BERIRE

BMSHRE=2I T RE (&S

MEE1E#HER

"FH

FR2452H248

SKER M RAER (REHHRID)
BEERKEARAR(RFHID

TR EFRIEE(u Sv/h)

MEERAR

BE-R—ILER)

No | T 2FEEH mEst meAn| EEM —= Eo e B " W
50cm m 50cm 1m  [tem(F1=)[ 50cm 1m  [tem(F0=)|

3142 | B [EIgEsE KTEITTARE [108318| 026 028| 013 0.14| 0.11| 019] 0.19| o.16/50=

3143 | BIK | TRk AFEITES 108318| 0.21| 019] 0.12| 015 0.11| 0.18| 020 o.16/f1=

3144 | BIK B AT#kETER 11818 | 020 020| 012 0.14| 0.11| 0.18] 0.19| o.19ff=

3145 | BN |E/EEE AT#kmEH@E 11818 | 024] 022| 012 0.14| 0.11| 018 022| 0.15/5=

3146 | FIIM |KRA&E%E RFEKEFXRA 11A1A | 024 0.29

3147| B |HmaEE ATRETTHAKA | 11818 | 029 028| 0.14] 0.17| 0.12| 0.19] o0.19| 0.18l5=

3148 | BIIA |N\BETEE PR ey 1118 | 028] 0.29| 0.13| 0.16| 0.09| 0.9 0.20| 01650z

3149 | BN |BHEE AFEFH B 11A1E | 032 025 013 0.14| 0.12| 0.14] 0.16| 0.13|2REm=

3150 | HZIF |KAHEE KFEFERZ 11A18 | 022| 025

3151 | FIF | EEABRMESE KFEFET 11A18 | 0.24| 0.21

3152| B |B/ L5 KTEPHEMA (11818 | 032] 029

3153 | iFIF [EERE KFREBFH BT 11818 | 0.21| 0.21

3154 | BIH |[OOHEE KRFERFHE 11A1A | 0.17| 0.16

3155 | BN (B ATHETRE 1ge | o022 021| 012 014| o011| 018 021| o.15/5=

aise | mat (ET/HER oo |xP#mETEENA 108318 019| 020 015 016| 0.14] 0.15| 0.16| 0.16|2RRmE

sis7| i [ e [RTEEETE/NT (08318 021 019 0.11] 013| 012] 012| 012| 0.11|oRREE

3158 | BN |h/ESSEh/BASE) [XTR/BTER | 11A18| 022 022| 0.12| 013 009 016| 0.17| 0.14|E18Em=

3159 | ZIIF ?;‘éljh%faaq;gmg; KFHE/BFHR/A 11A18 | 021 0.22

sioo | smat (G s [KFENF—EEME® | 1A18 | 020] 019| 013| 013 0.13) 0.14| 0.16| 0.14[2RmE

3161 | A f%ér,ﬁfg%ﬁm KFRER/BFE R 11A18 | 021 0.21

3162 | HIF ffé';'.%faaq;%mg; XFRININFE/LLR 11A18 | 0.26| 0.26

3163 | BIF |EREE(ERERF) |ATENEAEN | 11818 | 017| 020| 0.12| 0.12| 009 0.13| 015 0.12|xsm=

3164 | BIIK T%%'}.Ei,am AFENFHUTLZ (11818 | 020] 020 015 0.17| 0.13| 021 022| 0.18/k%H=

sies | pist [FHEEE XTENFHEE  |11B18 | 018 020

3166 | BN |hakE(hAERE)  |[XxT=mFha® (11818 | 018| 018 010 012| 010| 013| 015 0.13|xsm=

sie7| mst (REEEE ATENFFHF 11818 | 018 0.18| 0.13] 0.14| 0.11| 014] 0.17| 0.14|Rm=

sie | B [ gy [KESNFM 1Aa1a| 018 0.17| 013 015 0.12| 021] 0.23| o.18|%H=E

3160 | BN |SMEE(EMESER) |ATEATHERF | 1A1B | 031] 032 012 0.14| 0.10] 0.16] 018 0.14|sE=

s | must [SHEE e |xP#®mEF=S  |1A1E | 014] 015 011| 012 009 0.14| 0.16| 0.11|2H=

XBEEBIBLT,

T&pE-R—

JL(BM) 10 1em (FIE) ZRIEL TLHIHERIEMETHY.

BIELTWENERIIRM%E C£E) THS.




